4-5 0P AMP cireunt omow\sagis

Bample 413 Find Fhe inpudt- ouk pud’ velationship for Trecireuit below,
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Consider Thi obove aiveurk where Theve ¢ o drech conn ed-‘\on
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%\&mspedlév\ Ve = Uy g Vo= Vy. ond VP=V5
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Sinee i owdpud exactly follows the wnpud” s arcw b
1s called a voltage. Lo llower,

The Qrawt (s also called o buffer becasuaa 1t 150lates tha
source omdh load airanits,  Wthout thio ciravt ‘aow would
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Example 4-34  Find The inputoutput relohonshp for s cpeuit,
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Exercise. 4=\

a5

Skerch The troms fer Q‘ncxro.d‘&r:\sh’c. of tha. OP AMP circuit shown

below for

Vs

-lo <y < O velts,

\oksL 33k
AW M ?—
L Yo

f>
\/C(‘: t 1S volts

i

-

Thie (Son inuevting amplifier whee, K== i 3.3
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Tn the case That R\= R1=R This educes

N
g = ‘,5’:(”7'”5)

This 15 codled a sormmaston amplifier.



The d i fferential orn p \‘\f‘lé\" or sVbtvactor
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